
gfow/: ;zfynktK (Rational Numbers) 
class : 8th                 chapter number: 1 

1. ;G s' S'Nh g{oB ;zfynk  
    Smallest whole number 

  (a) 0           (b) 1      c) 2  d) 4 

2.;G s' tZvh foDkswe ;zg{oB ;zfynk . 
    Largest negative integer. 

(a)  -100     b)  -1000 c)    -10 d) -1 
3 fejVh fefonk g{oB ;zfynk s/ pzd Bjh j[zdh. 
(a) i'V  (b) r[DK c) xNkU d) koeI nhIM 
 Which operation does not hold  closure property for whole numbers. 

(a)   Addition               b) Multiplication  

(c) subtraction   d) none 
4 fejVh fefonk sMpUrn ;zfynktK  pzd Bjh j[zdh. 

(a)i'V b) xNkT c) r[Dk  d) Gkr 
4. Which Operation does not hold closure properly for integers. 

(a)   Addition             b) Subtraction  
c) Multiplication d) Division 

5. Which of the following is not the part of Rational Number 

a) In the form of 
𝑝

𝑞
        b) q≠ 0                c) p,q Integers  d) q = 0 

6 i/eo okw e'b 6 g?~B jB ns/ oth e'b 2 g?~B jB ns/ r'sw B/ 4 g?~B fe;/ B{z d/D/ jB. okw, oth ns/ r'sw 
fszBK e"b e[Zb fezB/ g?~B j'Dr/. 
6. If  Ram has 6 Pens and Ravi  has 2 Pens and Gautam has to give 4 Pens. Then Ram, Ravi and 

Gautam together has total number of pens. 

(a)-5  b) -4         c) 4  d) 5 

9 fe;/ gfow/: ;zfynk ftZu T[;dk i'Vkswe T[bN   i'VB s/ ________gqkgs j[zdk j?.(  0/ 1 /-1/2) 

 
 If rational number is added to  its additive  inverse, then result is__________. (  0/ 1 /-1/2) 
11) 2 ns/ 4 d/ ftueko ______ gfow/: ;zfynktK j'DrhnK. (1/ 3/10/ nBzs) 

11.) There are ___________ rational numbers  between 2 and 4.  (1/ 3/10/ infinite) 

12 g{oB ;zzfynktK ftZu' fejVh fefonk eqw tNkdok :'rsk g{oh eodh j?? 
(a) i'V   b) xNkT c) Gkr  d) Tgo'es koeI nhIN 
12  Which of the following operations do not hold in whole no’s while using commutative law. 

a)   Addition                           b) Subtraction  

c) division                                   d) None of those 

13) gfow/: ;zfynk i' nkgD/ i'Vkswe T[bN eqw d/ pokpo j't/. 
13. Rational number which is equal to its additive inverse: 

a)   1   b)    -1         c) 0 d) -2 
14)gfow/: ;zfynk i' nkgD/ r[Dkswe T[bN eqw d/ pokpo j't/. 
 Rational number which is equal to its multiplicative inverse : 
a)   1  b) -3        c) 0        d) -2 



 

2 Marks Questions 

1. i/eo fJZe e/e d/ fszB fjZ;/ ehs/ ikD Aqy fJZe ihs̀w oth B{z d/ fdsk ikt/ qW oth e'b fwb/ fjZ;/ dk joVwqmk 
T[bN  eh gqkgs j[zdk j? ? 
1.If cake is divided into three parts , one part is given to Ravi then write the additive inverse of the 

fraction given to Ravi. 

2 i/eo oth vwsqivk ;zfynk o/yk s/ sMiKAw 1 s/ KVw j? ns/ d' edw ;Zi/ gk;/ ubdk j? sK T[j fi; fpzd{ s/ 
w'i{d j? T[;dk i'Vkswe T[bN eqw eh j't/rk? 
2 If Ravi stands at  1 on a real number line  and he walks two step (2 natural numbers )towards 

right. Find the additive inverse of the number where Ravi stands at the last. 

LINEAR EQUATIONS OF ONE VARIABLE 

iek c`l vwlI ryKI smIkrn  AiDAwey : 2 

1. To make an equation , expression should have sign of :  

1. ivAMjk iv`c ikhVw icMn joVn nwl smIkrn bx jWdI hY[ 
a) ≤            b)   ≥              c)  ×                 d)  = 
2.The highest power of a variable in linear equation is : 
ie`k c`l vwlI   ryKI smIkrn iv`c pRXog hox vwly c`l dI v`D qoN v`D Gwq ikMnI huMdI hY ? 
a) 1                b)   2               c)  3              d )  4 

3. The lowest power of a variable in linear equation is :  
ie`k c`l vwlI ryKI smIkrn iv`c pRXog hox vwly c`l dI G`t qoN G`t Gwq kI huMdI hY [ 
a) 1                b)   2                c)  3                 d)  4 

4.The constant multiplied by a variable in linear equation can never be : 

ie`k c`l vwlI ryKI smIkrn iv`c pRXog hox vwlI c`l sMiKAw nwl guxw hoeI Ac`l sMiKAw kdy  
   …… nhI ho skdI : 

a) 1                 b)  0               c)  2                  d)  -1                                  

5.) smIkrx  2x – 3 = 7   dw h`l  5 hY[ ( shI/glq) 
  Solution of Equation 2x-3=7 is 5. ( true/false) 

6.When  twice a  number is added to original number, we get 12 . Find the number.  
iksy sMiKAw iv`c ausdw 2 guxw joVn qy 12 pRwpq huMdw hY[ qwN sMiKAw pqw kro[ 
a) 1             b) 2                 c) 3                   d)  4 

8. If the sum of three consecutive even numbers is     51, then find the smallest number. 

jykr iqMn lgwqwr ijsq sMiKAWvW dw  joV  51 hovy qW sB qoN CotI sMiKAw pqw kro [ 

a) 15                b)12            c)13                      d) 14                       
9. Ram is 6 years older than her sister Shashi. After 10 years , the sum of their ages will be 50 years.  Find 

the present age of Ram. 

9. rwm AwpxI BYx SSI nwloN 6 swl v`fw hY[ 10 swl bwAd, donW dI amrW dw joV 50 swl hovygw[rwm dI 
mOjUdw aumr pqw kro [ 

  a) 12            b) 15            c)  18                   d)  21 

10. A number decreased by 9 is equal to 40. Find the number: 



10. ie`k sMiKAw ivc̀oN 9 Gtwaux qy 40 pRwpq huMdw hY[ sMiKAw pqw kro[ 
a) 49            b) 45             c)  48                      d)  51 

11. There are 10 black balls . The no. of red balls is two more than twice the number of yellow balls. How 

many  yellow balls are there? 

11.  jykr 10 kwlIAW gyNdw hn Aqy ieh pIlIAW gyNdw dy dugxy qoN 2 izAwdw hn qW k`ul pIlIAW gyNdw hn: 
     a) 4           b) 7               c) 8                        d)  5 

12. A number  increased by 9 is equal to 40. Find the number:   

ie`k sMiKAw iv`c 9 joVn qy 40 pRwpq huMdw hY[ sMiKAw pqw kro[ 
 a) 29             b) 31             c) 33                    d)27 

12. The sides of triangle are x cm , x+3 cm and  x+5 cm . If the perimeter of the triangle is 29 cm then find 

the  smallest side of the triangle: 

13.iksy iqRBuj dIAW BujwvW kRm vwr x cm , x+3 cm Aqy x+5 cm hn [ jykr iqRBuj dw pirmwp 29 sm hovy qW 
sB qoN CotI Bujw dI lMbweI pqw kro[ 
a) 4              b) 7                   c) 6                d) 5 
13. If one number is 6 times the other and if their difference is 75  then find the number:   
jykr ie`k sMiKAw dusrI sMiKAw dw 6 guxw hovy Aqy donW dw AMqr 75 hovy qW sMiKAw pqw kro[ 
 a) 12          b) 15                c)  18             d)  21 

 
 ( 4 marks questions )   

1.If   the ratio of Ravi and Raj’s ages is 5:3 and the difference of their ages is 18 years then find the age of 

Ravi .                                                                                           

jykr rvI Aqy rwj dI aumr dw Anupwq 5:3 hovy Aqy aunHW dI aumrW iv`c AMqr 18 swl hovy qW rvI dI aumr 
pqw kro[ 
2.If the ages of Ravi , Raj and Ram are three consective multiples of three and  the sum of their ages is 36 

then find the age of Raj. 

2. jykr rvI,rwj Aqy rwm dIAW aumrW iqMn dy lgwqwr guxj hox Aqy auhnW dIAW aumrW dw joV 36 hovy qW 
rwj dI aumr pqw kro[ 

3.If the total number of pencils of Ravi is subtracted by 2 and the result is multiplied by 3, then we get 3. 

Find the total number of pencils Ravi has. 

3. jykr rvI kol kul pY~nislW iv`coN 2 Gtwaux qy pRwpq sMiKAw nUM  3 nwl guxw krn qy 3 pRwpq huMdw hY qW 
rvI kol ku`l pY~nislW pqw kro[ 

4.If the base of isosceles triangle is 4 cm and the perimeter of triangle is 10 cm then find the length of 

two equal sides.                                                                                                      

4. jykr smdoBujI iqRBuj dw AwDwr 4 sm h YAqy iqRBuj dw pirmwp 10 sm hY qW bwkI do brwbr BujwvW dI 
lMbweI pqw kro[    

5.Solve for x:      
5𝑥

4
 + 2 = 

4𝑥

5
 + 4 

5.  hl kro :   5𝑥

4
 + 2 = 

4𝑥

5
 + 4 



6.The age of Ravi is twice the age of Ram.  Five years ago the age of Ravi was 3 times the age of Ram. Find 

their ages. 

6.rvI dI aumr rwm dI aumr dw 2 guxw hY[ jykr pMj swl pihlW , rvI dI  aumr rwm dI aumr  
dw 3 guxw hovy qW donW dI aumr pqw kro[  

7.The ratio of ages of Vishu and Vansh is 3:2 . The sum of their present ages is 25 years . Find their ages. 

7.ivSU Aqy vMS dI aumr dw Anupwq 3:2 hovy[jykr donW dI aumr dw joV 25 swl hovy qW donW dI aumr pqw 
kro[ 

8.Solve for x :   x -  
𝑥−1

2
 = 1 – 

𝑥−2

3
 

h`l kro:  x -  
𝑥−1

2
 = 1–  

𝑥−2

3
 

9.If 2 is multiplied to a whole number and  3 is added , then the result is 17 . Find the number. 

jykr pUrn sMiKAw nMU 2 nwl guxw krn qy Aqy 3 joVn qy 17 pRwpq huMdw hY qW sMiKAw pqw kro[ 
10. If two third of a number is added to three fifth of the same number, then it gives 38 . Find the 

number. 

10.jykr iksy sMiKAw dy do iqhweI iv`c  ausy hI sMiKAw dy 3

5
 Bwg nUM joVn qy 38 pRwpq huMdw hY qW  sMiKAw pqw  

kro[ 

cqurBujwvW Aqy iesdy gux 

1) hyT iliKAW ivcoN iks cqrBuj dIAW do lwgvIAW BujwvW dy joVy brwbr Aqy ivkrn smkox qy k`tdy hn? 
(a) vrg (A) smcqurBuj(e) pqMg(s) Awieq 
1.Which of the following quadrilateral has two pairs of adjacent sides equal and its diagonals intersect 

each other at right angle? 

  (a)  square  (b)  rhombus  (c)  kite    (d)  rectangle. 

2) hyT iliKAW ivcoN iks cqurBuj dIAW  snm`uK BujwvW dw kyvl ie~k joVw smWqr huMdw hY : 
 (a) smcqurBuj (A) smlMb cqurBuj (e) pqMg  
(s) Awieq  
Which of the following quadrilateral has only one  pair of opposite sides parallel? 

(a) Rhombus  (b) Trapezium (c) Kite  (d) Rectangle. 

3) hyT iliKAW iv`coN ikhVI smbhuBuj hY | 

(a) Awieq  (A) vrg  (e) smcqrBuj  (s) pqMg 
Which of the following is a regular polygon? 

  (a) Rectangle  (b)  Square  (c)  Rhombus  (d)  Kite. 

4)iks cqrBuj dy swry kox smkox, snmuK BujwvW brwbr Aqy ivkrn ie`k dUjy nUM lMb smdoBwijq krdy hn| 

a) Awieq  (A) smcqurBuj  (e) vrg  (s) iehnW ivcoN koeI nhIN   
Which of the quadrilateral has all angles as right angles, opposite sides equal and its diagonals bisect-each 

other at 90
0
) 

(a)  Rectangle      (b)  Rhombus      (c)  Square      (d)  None of these. 

6) hyT iliKAW ivc̀oN ikhVI Srq smWqr cqurBuj dy lwgvyN koxW leI shI hY : 
a) ieh brwbr huMdy hn (A) ieh pUrk huMdy hn 
(e) ieh sMpUrk huMdy hn (s) iehnW ivcoN koeI nhIN 
Which of the following is true for the adjacent angles of a parallelogram? 

(a)  they are equal to each other 



(b)  they are complementary angles 

(c)  they are supplementary angles 

(d)  none of these. 

7) iksy pMjBuj dy bwhrI koxW dw joV ikMnW hovygw?  
(a) 540° (A) 180° (e) 720° (s) 360° 
The sides of a pentagon are extended in order. Which of the following is the sum of the exterior angles of  

pentagon? 

  (a)  540°     (b)  180°       (c)  720°   (d)  360° 

 8) hyT iliKAW ivc̀oN ikhVI cqurBuj dw ivkrx iesnMU do srbMgsm iqkoxW iv`c nhIN vMfdw : 
(a) smcqurBuj (A) smlMb (e) vrg  (s) Awieq  
Diagonals of which of the following quadrilaterals do not bisect it into two congruent triangles? 

 (a) rhombus (b) trapezium (c) square  (d) rectangle. 

9) jykr iksy cqurBuj dy AMdrly iqMn kox, hryk dw mwp 75°, hovy qW cOQy kox dw mwp pqw kro:  
(a) 150⁰  (A) 135⁰    (e) 45⁰   (s) 175⁰ 
If three angles of a quadrilateral are 75° each , then fourth angle is: 

(a) 150⁰      (b) 135⁰  (c) 45⁰ (d) 175⁰ 

10) iehnW iv~coN iks cqurBuj dy ivkrx ie`k dUjy nUM smdoBwijq krdy hn: 
(a) vrg      (A) pqMg    (e) smlMb cqurBuj        (s) koeI nhIN  
For which of the following quadrilaterals diagonals  bisect each other : 

(a) Square  (b) Kite  (c)Trapezium  (d) None of these 

11) hyT iliKAW iv`coN iksdy swry kox brwbr hMudy hn? 
(a)Awieq               (A)pqMg 
(e)smlMb cqurBuj         (s) smcqurBuj  
In which of the following quadrilaterals  all angles are equal ? 

(a) rectangle   (b)kite   (c)trapezium     (d) rhombus 

12) hyT iliKAW iv`coN iksdy ivkrx Awps ivc̀ smkox qy k`tdy hn ? 
(a) smWqr cqurBuj   (A) pqMg 
(e)smlMb cqurBuj (s) Awieq 
For which of the following diagonals are perpendicular to each other : 

(a) parallelogrm   (b)kite                  (c) trapezium            (d) rectangle 

13) hyT iliKAW iv`coN iksdy ivkrx Awps ivc̀ brwbr huMdy hn : 
(a) smlMb         (A) smcqurBuj                 (e) smWqr cqurBuj    (s) Awieq 
For which of the following figures diagonals are equal to each other: 

(a) Trapezium   (b) Rhombus                  (c) Parallelogrm              (d) Rectangle 

14) hyT idqy ic`qrW ivcoN ikhVy ic`qr iehnW SrqW nUM pUrw krdy hn : 
 1. swrIAW BujwvW brwbr hox, 2. swry kox brwbr hox, 3. snmu~K BujwvW smWqr hox 
Which of the following figures satisfies following properties: 

1. All sides are equal, 2. All angles are equal , 3.Opposite sides are parallel  

(a)               (A) 

 

 

(e)                (s)     



 

15) hyTW id~iqAW iv`coN ikhVI ivSySqw smlMb cqrBuj nUM drswaudIN hY: 

(a) snmu~K BujwvW dw ie~k joVW smWqr hox|      (A) ivkrn ie`k dUjy nUM smdoBwijq krdy hn|          
(e) ivkrn smkox qy k`tdy hn|  
(s) ivkrx brwbr huMdy hn| 

15)Which of the following properties describe a trapezium? 

(A)one pair of  Opposite sides parallel       

(B) Diagonals bisect each other   

(C) Each angle 90° 

 (D) Diagonals perpendicular to each other  

16) hyTW id`iqAW iv`coN ikhVI ivSySqw smWqr cqurBuj nUM drswaudIN hY : 
(a)snmu~K BujwvW smWqr hox| 

(A)ivkrn ie`k dUjy nUM smkox qy smdoBwijq krdy hn| 
(e) ivkrn smkox qy k`tdy hn| 
(s) ivkrn brwbr huMdy hn| 
17)Which of the following is a property of parallelogram?  

(A) Opposite sides are parallel.                              (B) Diagonals bisect each other at right angles.   

(C) Diagonals are perpendicular to each other.     (D)All diagonals are equal. 

17)iksy vI cqurBuj iv`c ikMny AiDk kox ho skdy hn: 

 (a)  1 (A) 2(e) 3 (s) 4 
What is the maximum number of obtuse angles which a quadrilateral can have?  

(a) 1 (b) 2 (c) 3 (d) 4 

18) iksy pMjBuj dy swry AMdrUnI koxW dw joV ikMnW huMdw hY ? 
(a) 180° (A) 360°    (e) 540° (s) 720° 

18)Sum of the all interior angles of a pentagon: 

(a) 180° (b) 360° (c) 540°  (d) 720° 

19) iksy Cy-Buj dy swry AMdrUnI koxW dw joV ikMnW huMdw hY?  
(a) 180°     (A) 360°      (e) 540°    (s) 720° 
19) Sum of the all interior angles of a hexagon : 

(a) 180° (b) 360° (c) 540°  (d) 720° 

 

20) iks cqurBuj dy snm`uK kox Aqy swrIAW BujwvW brwbr Aqy ivkrx ie`k dUjy nUM smkox qy smdoBwijq 
krdy hn: 
(a)smcqurBuj            (A)smWqr cqurBuj 
(e)pqMg                   (s) Awieq  
20) A Quadrilateral whose all sides are equal , opposite angles are equal and diagonals bisect each other at 

right angles is a……. 

(a)  Rhombus (b)  Parallelogram  

(c)  Kite             (d)  Rectangle 

21) iks cqurBuj dIAW snmuK BujwvW brwbr Aqy swry kox brwbr hn: 
(a) smcqurBuj     (A) smWqr cqurBuj            (e) vrg            (s) Awieq 
A quadrilateral whose opposite sides and all angles are equal is ……. 

(a)  Rhombus           (b) Parallelogram                  (c) Square       (d) Rectangle 



22) iks cqurBuj dIAW snmuK BujwvW, ivkrx Aqy swry kox brwbr hn: 
(a) smcqurBuj     (A) smWqr cqurBuj           (e) vrg             (s) Awieq 
A quadrilateral whose  opposite sides, diagonals and angles are equal is ……. 

(a)  Rhombus        (b) Parllelogram                     (c)  Square                (d)  Rectangle 

23) jykr iksy cqurBuj dy AMdrly iqMny koxW dw mwp 80⁰ hovy qW cOQy kox dw mwp pqw kro|  
(a) 150 °(A) 120°   (e) 105°  (s) 140° 
A quadrilateral has three acute angles. If each measures 80° then the measure of fourth angle will be:  
(a) 150°   (b) 120°      (c) 105°    (d) 140°  

24) iksy smWqr cqurBuj dy lwgvyN kox brwbr hox qW auh …………. huMdI hY 
a) smcqurBuj     A) Awieq  e)smlMb cqurBuj   
s) iqMnW iv`coN koeI vI ho skdI hY| 
The adjacent angles of a parallelogram are equal then the parallelogram is a  

(a) Rhombus       (b) Rectangle                                c) Trapezium       (d) Any of these  

                        
pRXoigk ijAwimqI 

( Practical Geometry) 

(1)The least number of measurements required to draw a unique triangle will be:                                                                                                  
      (a) 1              (b) 2               (c) 3                (d) 4 

(1) ie`k ivl`Kx iqRBuj bxwaux leI swnUM G`to G`t ikMny mwpW dI loV pvygI?  
      (a) 1              (b) 2               (c) 3                (d) 4 

(2) The least number of measurements required to draw a unique quadrilateral will be: 

(a) 2              (b) 3              (c) 4                (d) 5 

(2) ie`k ivl`Kx cqurBuj bxwaux leI swnUM G`to G`t ikMny mwpW dI loV pvygI? 

(a) 2              (b) 3              (c) 4                (d) 5 

(3) Which of the following angle is not possible to draw using compass? 

(a) 30˚         (b)  22
1

2
 ̊         (c) 45˚             (d) 50˚ 

(3) hyT iliKAW iv`coN ikhVw kox prkwr dI shwieqw nwl bxwauxw sMBv nhIN? 
(a) 30˚ (b)  22

1

2
 ̊         (c) 45˚             (d) 50˚ 

(4) A quadrilateral having its four sides and four angles equal to each other is known as: 

(a)  Rectangle                   (b) Square      (c) Parallelogram             (d) Rhombus    

(4) ie`k cqurBuj ijs dIAW cwroN BujwvW Aqy cwroN kox Awps iv`c brwbr hox……khwauNdI hY| 

 (a) Awieq                 (b) vrg      (c)  smWqr cqurBuj        (d)  sm cqurBuj 
(5) The diagonals of the rhombus are………….to each other. 

(a) Equal                   (b) Perpendicular bisector     

(c) Both                     (d) None of these 

(5) ie`k smcqurBuj dy ivkrx Awps iv`c ….. huMdy hn| 
    (a) brwbr                (b)  lMb smduBwjk     
    (c) donoN              (d) iehnW iv`coN koeI vI nhIN 
(6) If all the angles in a parallelogram become equal then the shape we get  will be: 

   (a) Square                  (b) Rectangle  

(c) Rhombus               (d) Trapezium 

(6) jykr iksy smWqr cqurBuj iv`c cwroN kox brwbr kr id`qy jwx qW swnUM ikhVI AwikRqI pRwpq hovygI? 
 (a) vrg              (b) Awieq       
(c)  smcqurBuj       (d)  smlMb cqurBuj    

(7) A quadrilateral in which the pair of two adjacent lines is equal is known as: 



(a) Kite                           (b) Square            

(c) Rectangle                  (d) Rhombus 

(7) ie~k cqurBuj ijs iv~c do lwgvIAW BujwvW dy joVy brwbr huMdy hn,khwauNdI hY? 
(a) pqMg    (b) vrg    (c)  Awieq  (d)  smcqurBuj 

(8) If the three angles of a quadrilateral are 30˚ , 60˚ and  120˚ then  what will be its fourth angle? 

(8) jykr iksy cqurBuj dy iqMn kox 30˚,  60˚  Aqy  120˚ hn, qW iesdw cOQw kOx pqw kro[ 
  (a) 50˚      (b) 150˚           (c) 250˚         (d) 100˚ 

 4 AMkW vwly pRSn (4 Marks questions) 

(1) Draw a square whose one side is 6cm. 

(1) ie~k vrg dI rcnw kro ijs iv~c ie`k Bujw dI lMbweI 6 sm hY[ 
(2) Draw a rectangle whose adjacent sides are 4cm and 6cm. 

(2) ie~k Awieq dI rcnw kro ijs dIAW lwgvIAW BujwvW 4 sm Aqy 6 sm hn[ 
(3) Draw a rhombus having diagonals of  lengths 4cm and 6cm. 

(3) ie~k smcqurBuj dI rcnw kro ijs dy ivkrxW dI lMbweI 4 sm Aqy 6 sm hY[ 
(4) Draw the following angles with the help of pencil and compass: 

(4) pYnisl – prkwr dI shwieqw nwl hyT ilKy kox bxwE: 
(a) 30˚    (b) 45˚    (c) 135˚  (d) 150˚    (e) 240˚ 

(5) If the two angles of a triangle are 30⁰ and 50⁰then what will be the measure of its third angle? 

(5) jykr iksy iqkox dy do kox 30⁰ Aqy 50⁰ hn qW    iesdy qIsry kox dw mwp kI hovygw? 
 

SQUARE AND SQUAREROOT 
 

    1.Square  of 16 is  (16 dw vrg hY:)  
(a) 121    b)  156     c)  169     d)  256 

2. Squareroot of 289 is….  ( 13/ 15/  17/ 18) 

   289 dw vrgmUl  ___ hY[( 13/ 15/  17/ 18) 
3.196 is the square of: ( 196  iksdw vrg hY?) 

(a) 11     b)  12      c)  14        d)  16 
 

4. Which of the following is the square of even number?  

hyT iliKAW iv~c ikhVw ijsq sMiKAw dw vrg hY: 
(a) 144   b)  169   c) 625        d)  441 

5.Which of the following  is a perfect square? 

hyT iliKAW iv~c ikhVw pUrn vrg  hY? 
(a) 841       b)  629       c)  361        d)  198 

6.Largest perfect square between 4 and 50 is: 

4 Aqy 50 dy ivckwr sB qo v~fw pUrn vrg:  
5 (a) 25         b)  36         c)  49          d)  45 

7. Find the largest four digit number which is the perfect square. 

cwr A~KrW dI v~fI sMiKAw pqw kro jo pUrn vrg hY|  

 (a) 9000      b) 9801     c) 9999        d) 9981 

8. What is the number of zeroes in the square of 900? 

900 dy  vrg iv~c isPrW dI igxqI ikMnI huMdI hY? 



(a)  2           b)  3           c)  4            d)  5 

9. A square board has an area of 144 sq. meters. How long is each side of the board ? 

ie`k vrgwkwr borf dw KyqrPl 144 vrg mItr hY, hr Bujw ikMnI hovygI? 
(a) 12         b)  13          c)  15         d)  17 

CUBE AND  CUBEROOT 

1 Find  the cube of -8. (-8 dw Gx pqw kro) 
    a)  -64       b)        64  c)     -512      d)   512 

2. Find the cuberoot of 1728. (1728  dw GxmUl pqw kro ) 
a)   11     b)   12       c)    14        d)  16 

3.  128 is a perfect cube. ( true/false) 

    128 pUrn Gx hY. (shI/glq) 
4. Find the cube of 7.    7 dw Gx pqw kro[ 

a) 143  b)  243  c)  343  d)  443 

5.If the digit in one’s place of a number is 2 then    the last digit of its cube be 

  jykr iksy sMiKAw dw iekweI AMk 2 hY qW ausdy  Gx dw iekweI AMk kI hovygw? 

a) 2  b)  4  c)  6  d)  8 

6.Which of the following is a perfect cube? hyT iliKAW iv~c ikhVw pUrn Gx  hY ? 

a) 10000  b) 243  c)  343  d)  270000 

7.The volume of a cubical box is 64 cube units, which of the following is its side? 

   ie~k Gxwkwr f`by dw Awieqn 64 Gx iekweI hY,  Bujw ikMnI hovygI? 

a) 2           b)  4           c)  6             d)   8 

 8.Which of the following is equal to its own cube? 

    hyT iliKAW iv~c ikhVw Awpxy Gx dy brwbr hY? 

a)  -2            b)  3            c)  -1          d)  -5 

  9. Which of the following is cuberoot of 27000? 

     hyT iliKAW iv~c 27000 dw GxmUl kI hY? 
 30          b)  300       c)  3000           d)  3300 

 

Comparing Quantities (rwSIAW dI qulnw) 
Q1.  There are 10 oranges out of 25 fruits. So percentage of oranges is :- 

Q1.25 PlW ivcoN 10 sMqry hn,ies leI sMqirAW dI pRqISq hY:- 
   (a)      20%        b) 30%   (c)   40% (d)      50%  
Q2.   There are 50 girls out of 80 students. So percentage of Girls  is :- 

Q2.80 ividAwrQIAW iv`coN 50 lVkIAW hn , ies leI lVkIAW dI pRqISq hY:- 

     (a)   50%      b) 80% (c)   160% (d)      62.5%  

Q3.Ratio of 200 paise to Rs 3 is :- 

Q3.200 pYsy dw 3 rupey nwl Anupwq  hY :- 

    a)  2:3    (b)    3:2    (c) 200:3        (d)3:200 

Q4.Ratio of 6 km to 600 meter is :- 

Q4) 6 iklomItr dw 600 nwl Anupwq  hY :- 

   a) 1:100   (b)    10:1    (c)1:10      (d) 100:1 



Q5. In a garden, there are three types of trees. Mangoes 35% , oranges 40% in that garden. 

Percentage of banana trees is :- 

5.ie`k bwg iv`c iqMn qrHW dy dr`Kqhn[ AMb 35% Aqy sMqry 40% hn[  kyilAW dy dr`KqW dI pRqISq 
hY: 

(a)  25% (b)  35%    (c) 40%   (d) 75% 

Q6. Conversion of  3:5 into percentage is:- 

Q6. 3:5 dw pRqISq iv`c bdlwA hY :- 

   (a) 30%  (b) 50% (c) 60% (d) 80% 

Q7. Conversion of  60% into fraction is :- 

 Q7. 60% dw iBMn iv`c bdlwA hY :- 

        (a) 
2

5
 (b)  

4

5
 (c)  

1

5
 (d)   

3

5
 

Q8.There is 30% discount on an article,After discount money will have been paid is :- 

Q8. ie`k vsqU 30% ktOqI qy imldI hY,ktOqI qoN bwAd rkm dyxI pvygI:- 

       (a) 70%  (b) 50% (c) 50% (d) 35% 

Q 9. 36 % of Rs 75 is :- 

Q9.    75 rupey dw 36% hY:- 
        (a) Rs 36  (b) Rs 27   (c) Rs 75    (d) Rs 18 

Q10. A shop gives 15% discount.The sale price of dress marked at Rs 100 is :- 

Q10. ie`k dukwn qy 15% ktOqI imldI hY,100 rupey AMikq mu`l vwlI frY~s dw vycmu`l hY:- 

     (a) 15 (b) 100  (c) 85  (d) 115 

Q11. A shop gives 50% discount.The sale price of bag marked at Rs 220 is :- 

Q11. ie`k dukwn qy 50% ktOqI imldI hY,220 rupey AMikq mu`l vwly bYg dw vycmu`l hY:- 

(a) 110 (b) 170  (c) 270  (d) 220 

Q12. 50% of 41 is:-  

Q12. 41 dw 50% hY :- 

(a) 41 (b) 50  (c) 20  (d) 20.5 

Q13.  S.P = C.P + ……. 

(a) Profit (b) Loss(c) Tax (d) Discount  

Q13.  vycmu`l = KrIdmu`l + …… 

(a) lwB (b) hwnI(c) tYks (d) ktOqI 
 

Q14.  Profit % is equal to 

Q14.  lwB (P) % brwbr hY :- 

(a) 
𝐿

𝑆.𝑃
 x100 (b) 

𝑃

𝑆.𝑃
 x100  (c) 

𝐿

𝐶.𝑃
 x100 (d)  

𝑃

𝐶.𝑃
 x100 

2 Marks 

Q1.  80% of 25 students are good in mathematics. How many are not good in mathematics? 

Q1. 25 ividAwrQIAW ivcoN 80% gixq iv`coN cMgy hn[ ikMny gixq iv`coN cMgy nhIN hn? 

Q2. The price of watch was Rs.1500 last year. It is decreased by 20% this year. What is the price now? 

Q2. ie`k GVI dI kImq ipCly swl 1500 rupey sI[ ieh ies swl 20% G`t ho geI[hux iesdI kImq 
ikMnI hY? 
Q3The list price of frock is Rs.220. A discount of 17% is announced on sale. What is its sale price?  
Q3.ie`k Prwk dI kImq 220 rupey AMikq hY [ ies nMU vycx qy 17% ktOqI dw AYlwn kIqw igAw[ ies 
dw vycmu`l ikMnw hY? 
Q4. Seema bought a box of biscuit for Rs.904 which included GST of 13% .What is the price of a box of 

biscuit before GST was added ? 



Q4. sImw ny iek̀ ibskut dw f`bw 904 rupey ivc̀ KrIidAw ijs iv`c 13% GST Swiml sI[ibskut dy f`by 
dw GST juVn qoN pihlW mu`l ikMnw sI? 

Q5.Cost of an old bicycle was Rs.1700 and Rs.300 were spent on its repair.  If it is sold for a profit of 20% 

then find selling price of bicycle. 

Q5.ie`k purwxy swiekl dI kImq 1700 rupey sI Aqy iesdI murMmq krvwaux qy 300 rupey Krc kr 
id`qy , jykr iesnMU 20% lwB qy vyicAw jwvy qW swiekl dw vycmu`l pqw kro[ 

Q6.A book marked at Rs.791 is sold for Rs.678. Find  discount and discount %. 

Q6.791 rupey AMikq vwlI ie`k ikqwb 678 rupey iv`c ivkdI hY[ ktOqI Aqy ktOqI% pqw kro[ 

Q7.  A packet marked at Rs.1920 is sold for Rs.1840. What is the discount and discount %. 

Q7.1920 rupey AMikq vwlw ie`k pYkt 1840 rupey iv`c ivkdw hY[ ktOqI Aqy ktOqI% pqw kro[ 

Algebraic Expressions and Identities       bIjgixqk ivAMjk Aqy qqsmk  
1.Which type of expression is 𝑥𝑦𝑧 ? 
(a)  Monomial                   (b)Binomial    (c)Trinomial                     (d)None of these 

1H𝑥𝑦𝑧 fej' fijh pj[gd j?<                     
 (a)fJZe gdh             (b) d' gdh                   (c)fszB gdh            (d)fJjBK tZZu'A e'Jh BjhA 
2. Write the numerical coefficient of term 𝑥2𝑦2. 

2H 𝑥2𝑦2 ftnzie ftZu ;zfynkswe r[DKe fby'L    
(a)0         (b)𝑥2             (c) 1              (d)𝑦2 
3. Numerical coefficient  in the term   -abc is :-  

3.  –abc ftnzie ftZu ;zfynkswe r[DKe fby'L 
(a) -b     (b)   -c     (c) -a          (d) -1 

4.Write coefficient of y in the term −5𝑥𝑦. 

4H−5𝑥𝑦 ftZu 𝑦 dk r[DKe fby'L   
(a)  ^5       (b)   −5𝑥(c)𝑥   (d)−5𝑥𝑦 
5HWrite coefficient of x in term 5𝑥 + 6𝑦. 
5.sMiKAw 5𝑥 + 6𝑦 ftZu 𝑥 dk r[DKe fby'.                                                        
(a) 5        (b)  6        (c) 5𝑥           (d)  6𝑦 

6H Product of 5𝑥 and −5𝑥 𝑖𝑠 − 25𝑥. ( true/False) 
   5𝑥 ns/ −5𝑥 dk r[DBcb -25 𝑥 hY[( shI /glq) 
 (a)  −5𝑥2  (b)  25𝑥        (c) −25𝑥2    (d)  25𝑥2 

7.𝑎2 − 𝑏2   is the product of............? 

(a)   𝑎 + 𝑏 (𝑎 + 𝑏)          (b)   𝑎 + 𝑏  𝑎 − 𝑏         (c) 𝑎 − 𝑏 (𝑎 − 𝑏)            (d) None of these 

7H𝑎2 − 𝑏2   fe;dh r[Dk d/ pokpo j?<               
 (a)   𝑎 + 𝑏 (𝑎 + 𝑏)         (b)   𝑎 + 𝑏 (𝑎 − 𝑏)      (c) 𝑎 − 𝑏 (𝑎 − 𝑏)           (d) fJjBK ftZZu'A e'Jh BjhA 
8. Product of monomial and binomial is........? 

(a)  Monomial                      (b)Binomial          (c)Trinomial                         (d)None of these 

8H fJZe gdh ns/ d' gdh ftnzieK dh r[Dk j't/rhL (a)fJZegdh                  (b) d' gdh            (c)fszBgdh                  
(d)fJjBK ftZZu'A e'Jh BjhA 
9HFill in the blank  (𝑎 + 𝑏)2 = (𝑎)2+⋯+ (𝑏)2      [  (𝑎 + 𝑏) /  (𝑎 − 𝑏) /  2𝑎𝑏 / −2𝑎𝑏] 
 



9HKwlI sQwn Bro  (𝑎 + 𝑏)2 = (𝑎)2+⋯……+ (𝑏)2  [  (𝑎 + 𝑏) /  (𝑎 − 𝑏) /  2𝑎𝑏 / −2𝑎𝑏] 
10.Which among these is a binomial expression? 

10H j/m fbfynKftZu'AfejVkftnzie d' gdh j?< 
(a)  7 × 𝑎                        (b)  6𝑎2 + 7𝑏 + 2𝑐 

(c) 4𝑎 × 3𝑏 × 2𝑐            (d) 6(𝑎2 + 𝑏) 

11. Which is true among these identities? 

11H fJjBK ftZu'A fejVk ss;we ;jh j?< 
 (a) (𝑎 + 𝑏)2 = (𝑎)2+2𝑏 + (𝑏)2 

(b)  (𝑎 + 𝑏)2 = (𝑎)2 + 2𝑎𝑏+(𝑏)2 
(c)  𝑎 − 𝑏 2 =  𝑎 2− 𝑏 2 

(d) (𝑎 + 𝑏)2 = (𝑎)2+2𝑏 − (𝑏)2 

12. The addition of −7𝑝𝑞 and 2𝑝𝑞 is 5𝑝𝑞.   ( True/False) 
12H −7𝑝𝑞 ns/ 2𝑝𝑞 dk i'V 5𝑝. j't/rkL  (shI/glq)               
 
13. The like term of 4𝑚3𝑛2 is: 

13H4𝑚3𝑛2 dk ;wkB gd fejVk j? <              
  (a) 4𝑚2𝑛2  (b)6𝑝𝑚3𝑛2   (c)−6𝑚3𝑛2      (d)4𝑚3𝑛 
14H Which are the like pairs?    
14H j/m fbfynK ftZu'A fejV/ gd ;wkB jB< 
(a) 5𝑥, 5𝑥2   (b)  5, 5𝑥    (c)5𝑥, 4𝑦        (d)  5𝑥, 10𝑥 

15. Which are the like pairs? 

15H fJjBK ftZu'A fejVk ;wkB gdK dk i'Vk j?<      
 (a) 5𝑥𝑦𝑧2 ,−3𝑥𝑦𝑧                (b)5𝑥𝑦𝑧2 , 7𝑥𝑦𝑧2 (c)5𝑥𝑦𝑧2 , 𝑥2𝑦2𝑧2                (d)5𝑥𝑦𝑧2 , 5𝑥2𝑦𝑧 
16. Simplify (𝑎 + 𝑏)2 + (𝑎 − 𝑏)2 

16H (𝑎 + 𝑏)2 + (𝑎 − 𝑏)2 dk w[Zb eh j't/rk<         
(a) 2𝑎2 − 2𝑏2  (b) 4𝑎𝑏    (c)  −4𝑎𝑏   (d)2𝑎2 + 2𝑏2 
17H Fill in the blank 

 𝑎 − 𝑏 × ……… = (𝑎)2−2𝑎𝑏 + (𝑏)2 

17H KwlI sQwn Bro: 
 𝑎 − 𝑏 × ……… = (𝑎)2−2𝑎𝑏 + (𝑏)2 

(a) 2𝑎𝑏   (b)   (𝑎 + 𝑏)  (c)  −2𝑎𝑏  (d) (𝑎 − 𝑏) 
18HFill in the blank: 

672 − 372 =  67 − 37 × …………… 
18HKwlI sQwn Bro: 

672 − 372 =  67 − 37 × ……………… 
(a)  (67 − 37)                        (b) (67 − 37)2 

  (c)  (67 + 37)                      (d)  (67 + 37)2 
19HFill in the blank: 

 𝑥 + 𝑎  𝑥 + 𝑏 = 𝑥2 +  𝑎 + 𝑏 𝑥 + ⋯………… 
19HKwlI sQwn Bro 



 𝑥 + 𝑎  𝑥 + 𝑏 = 𝑥2 +  𝑎 + 𝑏 𝑥 + ⋯………… 
(a)  𝑥 + 𝑏   (b)   𝑥𝑦            (c) 𝑥 + 𝑎           (d) 𝑎𝑏 
20. Which of the following is  binomial of two variable ? 

20. iehnW iv`coN do clW vwlI do pdI ikhVI hY ? 

 (a) x+3yz    (b)  7xy          (c) 7y-4           (d) 3x-4y 

21.Which of the following is not term of 4xyz  

21hyT iliKAW iv`coN ikhVw  4xyz    dw Asmwn pd    nhIN hY?  

(a) -7yxz    (b)    4xyw     (c) 2zxy             (d) 3xzy   

22. Which of the following is trinomial?  

22. hyT iliKAW iv`coN ikhVw iqMn pdI hY?  

    (a)  x+3yz+3x                     (b) 7xy-5xy+2  

    (c) 7y-4 +2x                        (d) 3x-4y 

 23. Subtraction of  7xy from 3xy is :- 

 23.sMiKAw 7xy nMU 3xy iv`coNGtwE:- 

 (a) -4xy    (b)    4xy  (c) 4         (d) none of these 

24.  Sum of 7x and 4y is: 

       7x ns/ 4y dk i'VL 
(a)  7x+4y    (b)    11x(c) 11y          (d)  11xy         

25. Addition of terms   a-b, b-c and c-a is: 

(a) 2a+2b+2c  (b)  a+b+c  (c) 0 (d) None of these 

25. sMiKAwvW a-b, b-c ns/ c-a  dk i'V: 

(a) 2a+2b+2c  (b)  a+b+c   (c)0     (d) e'JhBjhA 
26. Product of 5x and 4x

2
is:- 

26. 5x ns/ 4x
2dh r[xw :^ 

(a) 20x
2
 (b) 20x

3
(c) 9x

3
(d)fJjBKftZu'e'JhBjhA 

27. Multiplication  of 3y and (2y+7xy) is:- 

27. 3y ns/ (2y+7xy) dh r[DkL^ 
(a) 6y

2
+7xy                (b)    42xy

2
 

(c)6y
2
+21xy

2                   
 (d)fJjBKftZu'Ae'JhBjhA 

28. Product of -10p
3
q and 4pq

3
 is: 

28.  -10p
3
q ns/ 4pq

3 dh r[DkL 
(a) -40p

4
q

4
                      (b)    40

p4
q

4
                               (c)  -40p

3
q

3
                     (d) fJjBK ftZu'A e'Jh BjhA 

29. Product of  a
4
, a

3
, a

2 
 and a  is:

 
 

29.   a
4
, a

3
, a

2 ns/  a dh r[DkL 
(a)  a

24
       (b)    24a       (c)  a

10
          (d)     a

9
 

 (a)   -6x      (b)    9x      (c)  9x
2
         (d)     -9x

2 

30. For evaluating 296x304 , which identity will be used? 

(a)  (a+b)(a-b)                        (b)    (a+b)
2
               (c)  (a-b)

2
                               (d)     None of these 

30.  296x304  dk w[Zb gsk eoB bJh fejV/ ss;we dh tos'A ehsh iKdh j?< 

(a)  (a+b)(a-b) = a
2
-b

2
     (b) (a+b)

2
=a

2
+b

2
+2ab                  (c)  (a-b)

2
 = a

2
+b

2
-2ab   (d) fJjBK ftZu'A e'Jh BjhA 



 

Two marks questions/d' nzeKtkb/ gqPB 
1) Find the value of  (7x)

2
 . 

    (7x)
2  dk w[Zb pqw kro[ 

2)  The value of  (-3x)
2
 is : 

     (-3x)
2  dk w[Zb j? : 

 
3. .Product of 𝑥2 × 𝑎10 × 𝑥22𝑎15     is?  

3.r[DBcb gsk eo' L𝑥2 × 𝑎10 × 𝑥22𝑎15  

4.The value of  11
2
 -10

2
  is : 

4.  11
2
 -10

2 dk w[Zb j? : 
5.  Add 𝑙2𝑚2 − 𝑙𝑚 + 5 and 4 + 6𝑙𝑚 − 2𝑙2𝑚2 

5. 𝑙2𝑚2 − 𝑙𝑚 + 5 ns/ 4 + 6𝑙𝑚 − 2𝑙2𝑚2 dk i'V j?  

6. Product of   
3

4
𝑎𝑏 × (

−8

9
𝑎2𝑏2) is: 

6. 
3

4
𝑎𝑏 × (

−8

9
𝑎2𝑏2)dk  r[DBcb j't/rkL 

7.  Find the product of (4p
2
 + 5p + 7) and 3p 

7.  (4p
2
 + 5p + 7) Aqy 3pdk r[DBcb gsk eo'L 

8.  Find the product of 2a, 3b, 6c, abc 

8.  2a, 3b, 6c, abc dw guxnPl pqw kro[ 
9. If x=2 then what is the value of 3x

2
-1? 

9. i/eo x=2 j? sK 3x
2
-1 dk w[Zb eh j't/rk? 

10.Simplify     𝑥(1 − 𝑥 − 𝑥2),         Find its value for  𝑥 = −1 

10.  𝑥(1 − 𝑥 − 𝑥2) B{z ;ob eo' ns/ 𝑥 = −1 d/ bJh fJ; dk w[Zb gsk eo'. 
11. Subtract : 2a(a+3b-4c) from 3a(5c-2b+2a) 

11. 3a(5c-2b+2a) ftZu'A 2a(a+3b-4c) nMU xNkU. 
12. Subtract : 3xy(x-y) from 4xy(x+y) 

12.   4xy(x+y) ftZu'A 3xy(x-y)  B{z  xNkU. 
13. Simplify:  2b(2a+b-2c)-(3a-4b)c 

13.2b(2a+b-2c) - (3a-4b)c  B{{z ;ob eo'. 
14. Simplify: (x-y)(x

2
 + xy +y

2
) 

14.(x-y)(x
2
 + xy +y

2
) B{{z ;ob eo'. 

15. Simplify: (p - q + s)(p + q - s) 

15.(p - q + s)(p + q - s) B{{z ;ob eo'. 
16. Using  identities, evaluate 

i) 101
2
                                      (ii)  83x77 

16. ss;weK  d/ T[g:'r Bkb w[Zb gsk eo'L 
i) 101

2
                                      (ii)  83x77 

17.  Simplify (3a+4)
2 

- (3a-4)
2
 

17.  (3a+4)
2 

- (3a-4)
2  B{z ;ob eo'. 

18.  Simplify (x+y)(x-y)+ (y-z)(y+z) + (z-x)(z+x) 



18.  (x+y)(x-y) + (y-z)(y+z)  + (z-x)(z+x)  B{z    ;ob eo'. 
19.Using (x + a)(x + b) = x

2
 + (a + b) x + ab,       Find  (i) 102 x 105              (ii)  4.1 x 4.3        

19. (x + a)(x + b) = x
2
 + (a + b) x + ab, dh  tos'A eoe/ w[Zb gsk eo'L(i) 102 x 105       (ii)  4.1 x 4.3  

20.Using   a
2
 -  b

2 
= (a + b) (a - b),  Find 

(i) 13.9
2 

- 6.1
2
                      (ii)    87

2
 - 13

2
 

20.a
2
 -  b

2
= (a + b) (a - b),dh tos'Aeoe/ w[Zbgskeo'L 

(i) 13.9
2
- 6.1

2
                        (ii)    87

2
 - 13

2
 

Visulaising Solids  MCQ’s 

Q1. Which of the following is an example of sphere? 

(a) Bangle    (b) Glass (c) Ball (d) Pen 
1. hyTW ilKIAW iv`coN ikhVI audwhrn goly  nUM drswaudIN hY? 
(a) cUVI   (b) iglws (c) gyNd   (d) pY`n 

Q2. How many vertices are there in a cube? 

2. ie`k Gx dy ikMny isKr huMdy hn? 
(a) 3 (b) 8     (c) 4  (d) 6 
Q3. How many vertices are there in a sphere? 

3. ie`k goly dy ikMny isKr huMdy hn? 
(a) 0  (b) 1        (c) 2        (d) 4 
 

Q4. How many vertices are there in 

 the following solid? 

4. id`qy hoey Tos dy ikMny isKr hn? 
 
(a) 3 (b) 8 (c) 4 (d) 6 
Q5. Which type of the figure is this? 

(a) Triangle (b) Quadrilateral (c) Prism (d) Pyramid 

5. id`qw ic`qr ikhVI AwikRqI  
nUM drswauNdw hY? 
 

(a) iqRBuj (b) cqurBuj (c) ipRzm   (d) iprwimf 
7. ieaUlr dw sUqr kI hY? 
(a) F + V – E = 2          (b)F + V + E = 2   (c) F – V – E = 2                 (d) F + V – E = 0 

Q8. How many minimum numbers of faces are needed to make a polyhedron? 

8. ie`k bhu-Plk bxwaux leI G`t qoN G`t ikMny PlkW dI jrUrq huMdI hY? 
(a) 3 (b) 5  (c) 2  (d) 4 
Q9. Which of the following is not a polyhedron? 

hyT bxy AwkwrW iv`coN ikhVw bhuPlk nhIN hY? 

 

 

 
 

 



 

 

 

Q10. Which of the following is not a prism? 

10. hyT bxy AwkwrW iv`coN ikhVw ipRzm nhIN hY? 

 

Q11. How many faces are there in the following solid? 

11. id`qy hoey Tos dy ikMny &lk hn? 

 
(a) 3 (b) 8 (c) 7 (d) 6 
Q12. How many edges are there in the following solid? 

12. id`qy hoey Tos dy ikMny iknwry hn? 
 
(a) 10 (b) 5 (c) 7 (d) 6 
Q13. In a polyhedron there are 12 faces and 20 edges, find the number of vertices it have? 

13. ie`k bhuPlk dy 12 &lk Aqy 20 iknwry hn, ies dy isKrW dI igxqI pqw kro[ 
(a) 10   (b) 5  (c) 7     (d) 6 
Q14. In a polyhedron there are 16 faces and 8 vertices, find the number of edges it have? 

14. ie`k bhuPlk dy 16 &lk Aqy 8 iSKr hn, ies dy iknwirAW dI igxqI pqw kro[ 
(a) 20   (b) 10  (c) 22 (d) 14 
Q15. In a polyhedron there are 9 vertices and 14 edges, find the number of faces it have? 

15. ie`k bhuPlk dy 9 iSKr Aqy 14 iknwry hn, ies dy PlkW dI igxqI pqw kro[ 
(a) 10   (b) 5 (c) 7        (d) 6 
4 marks questions/ 4 nzeKtkb/ gqPB 
Q16. Give any 4 examples of 3 dimensional figures from real life. 

16. rozwnw ivvhwrk jIvn iv`coN 3 pswrI AwkwrwN dIAW koeI 4 audwhrnW ds̀o[ 
Q17. What do you mean by polyhedron? 

17. bhuPlk iks nUM AwKdy hn? 
Q18. What do you mean by regular polyhedron? 

18. sm bhuPlk kI huMdw hY? 
Q19. Write the number of faces, edges and vertices in a cube? 

19. ie`k Gxwv iv`c PlkW, iknwirAW Aqy isKrW dI igxqI d`so[ 
Q20. Write the number of faces, edges and vertices in a triangular prism? 

 

 



20. ie`k iqRBujwkwr ipRzm iv`c PlkW, iknwirAW Aqy isKrW dI igxqI d`so[ 
 
Q21. Can any polyhedron has 9 faces, 16 edges and 9 vertices? 
21. kI iksy bhuPlk dy 9 &lk, 16 iknwry Aqy 9 isKr ho skdy hn? 
Q22. Verify Euler’s formula for a square prism. 
22. ie`k vrg ipRzm leI ieaUlr sUqr dI pVqwl kro[ 
. 

Q30. Match the columns:(imlwx kro) 
AwikRqI(Figure) iSKrW dI sMiKAW(Number of Vertices) 

 

 
5 

 

 
10 

 

 
8 

 

 
6 

 

MENSURATION (Kyqr imqI) 
1. What is formula of volume of cuboid . 
1. Gxwv dy Awieqn dw PwrmUlw d`so[ 
(a) 𝜋𝑟2ℎ   (b) 𝑙 × 𝑏 × ℎ (c)   𝑙3 (d)   6𝑙2 
3. If area of circle is same as curved surface area of cylinder. If curved surface area of cylinder is        

154cm2 . Find diameter of circle.  
3. jykr ie`k c`kr dw KyqrPl Aqy islMfr dI pwsvIN sqHw dw KyqrPl dono brwbr hox Aqy islMfr dI pwsvIN 
sqHw dw KyqrPl 154 sm2 hovy qW c`kr dw ivAws pqw kro[ 
4.  1 L = ……… (  ie`k iltr=………)             (a)   100cm2  (b) 1000cm3    (c)  1 m3    (d)   1 cm3 
5. Find area of cylinder, if height is 14cm and radius      is half of the height. 
   ie`k islMfr dw KyqrPl d`so ijsdI aucweI 14 sm Aqy ArD-ivAws aucweI qo A`Dw hovy[) 
6. How much water can be stored in cubic tank   whose one side is 15 m.  
  ie`k Gxwkwr tYk dI Dwrn smr`Qw kI hovygI ijsdI ie`k Bujw 15 mI: hovy[ 
7. If radius of circle and side of square are equal then their area is…. 
7. jykr ie`k c`kr dw ArDivAws Aqy vrg dI Bujw brwbr hovy qW iehnW dw KyqrPl……) 



(a). Will be same. (brwbr hovygw[) 
(b) Area of square is more than area of circle.     vrg dw KyqrPl c`kr dy KyqrPl qo ijAwdw hovygw[ 
(c)area of circle is more than area of square.        c`kr dw KyqrPl vrg dy KyqrPl qo ijAwdw hovygw[ 
(d) None of above. (iehnW iv`co koeI vI nhI) 
8. If cuboid has same length, Breath and Height. Then it become…. 
8. jykr ie`k Gxwv dI lMbweI, cOVweI Aqy aucweI brwbr hovy qW ieh bxygw…… 
(a) Cylinder (islMfr)     (b)   Cube (Gx)     
(c)   Circle  (c`kr)         (d)  Cone (SMkU) 
9. What is formula of total surface area of cylinder?  

9. islMfr dI ku`l sqHw dy KyqrPl dw sUqr d`so[ 
(a) 2𝜋𝑟ℎ     (b) 𝜋𝑟2ℎ     (c) 𝜋𝑟2      (d) 2𝜋𝑟(ℎ + 𝑟) 

10. 

 
How much distance travelled by a cyclist from point A to point B. 

10.ie`k sweIkl svwr nMU ibMdU A qo ibMdU B q`k jwx leI ikMnw sPr qYA krnw pvygw[) 
(a)33cm     (b)   18cm      (c) 40cm      (d)  44cm 

11.  What is the name of this shape?                       ies AikRqI dw nwm d`so[ 

 

 

(a)Rectangle(Awieq)                           (b)Parallogram (smWqr cqruBuj)   
 (c)  trapezium ( smlMb cqurBuj)             (d)  Rhombus ( smcqurBuj) 
 
 
13. Find perimeter of semi circle whose radius is 7cm.  

 ie`k ArD c`kr dw Gyrw pqw kro ijsdw    ArD ivAws 7 sm hovy[ 

(a)  36 cm  (b)   44 cm    (c)    22 cm     (d)     48 cm 

14. If dimensions of a cuboid is 60𝑐𝑚 × 54𝑐𝑚 × 30𝑐𝑚 . How many small cubes whose side is 6 cm 

can be  kept in this cuboid.  

14.jykr ie`k Gxwv dIAW BujwvW 60𝑐𝑚 × 54𝑐𝑚 × 30𝑐𝑚 hox qW ies iv`c 6 sm Bujw vwly ikMny Gx r`Ky 
jw skdy hn? 

(a)   216    (b)    105    (c)    205     (d)     450 

15. What is the lateral surface area of cube whose side is 5cm? 

15.ie`k Gx ijsdI Bujw 5 sm hovy ausdw pwsvIN sqHw dw KyqrPl kI hovygw? 

(a) 150 cm2 (b) 100 cm2  (c) 140 cm2 (d) 130 cm2 



 

 

is`Dw Aqy ault Anupwq 
1.If 6 notebooks cost Rs 45 then how much would 8 notebooks cost? 
1.jykr 6 kwpIAW dw mu`l 45 rupey hY qW 8 kwpIAW dw mu`l kI hovygw? 
(a) Rs 56   (b)Rs 60     (c)Rs 60.5       (d)Rs 60.05                          
2. Sonali bought one dozen note books for Rs 66.What did she pay for one note book? 
2.sonwlI ny iek̀ drzn kwpIAW 66 rupey iv`c KrIdIAW[ie`k kwpI leI ausny ikMny rupey Adw kIqy?  

(a) Rs 6.50   (b) Rs 6.60  (c) Rs 5.60    (d) Rs 5.50                                                                                      3.If 

the weight of 5 bags of sugar is 27 Kg,then the weight of one bag is : 
3.jykr KMf dy pMj bYgW dw Bwr 27 ik`logRwm hY qW ie`k KMf dy bYg dw kI Bwr hovygw ?) 

(a) 5.04 Kg     (b) 5.2 Kg     (c) 5.4 Kg     (d) 5.6 Kg  4. Both x and y are direct proportion then 
𝟏

𝒙
  and 

𝟏

𝒚 
  

are 

4.jykr x Aqy y is`Dy pirvrqn iv`c hox qW 𝟏
 𝒙
 Aqy   𝟏

𝒚  
  hoxgy? 

(a Direct proportion (is`Dw pirvrqn) 
(b Inverse proportion (ault pirvrqn) 
(c) Neither in direct nor in inverse (nw is`Dw nw ault pirvrqn) 

(d) some time in direct and sometime in  

Inverse (QoVw smW is`Dw QoVw smW ault) 
5. If 7 penciles costs Rs 35,then the cost of 1 dozen pencils is? 
5. jykr 7 pYnislW dw m`ul 35 rupey hY qW ie`k drzn pYnislW dw kI mu`l hovygw? 
(a) Rs 72      (b) Rs 60        (c) Rs 48      (d) Rs 84  
2 Marks Questions  

6. Aman earns Rs 75000 in 5 months.Then how much will he earn in 9months?                                                                                                     

(b) In how many months will he earn Rs 45000? 
6.iekAwdmI 5 mhIinAWiv`c 75000 rupeykmwaudwhYqW 
(a) auh 9 mhIinAWiv``cikMnyrupeykmwvygw[  
(A)auh45000 rupeyauhikMnymhIinAWiv`ckmwvygw) 
7.Six men pack 312 parcels per day.Find the number of parcels packed by 11 men per day? 
7.jykr 6 ivAkqI iek̀ idn iv`c 312 pwrsl iqAwr krdy hn qW 11 ivAkqI iek̀ idn iv`c ikMny pwrsl 
iqAwr kr skxgy? 
8. A moter bike travels 220 km in 5 litres of petrol. How much distance will it cover in 1.5 litres of 

petrol? 
8.iek motr sweIkl 5 lItr qyl iv`c 220 iklomItr dUrI qYA krdI hY[ 1.5 lItr pYtrol iv`c auh ikMny 
iklomItr dUrI qYA krygw? 
9.A cost of dozen soaps is Rs 153.60. What will be the cost of 15 such soaps? 

9. ie`k drjn swbxW dw mu`l 153.60 rupey hY [ ies qrW dy 15 swbxW dw mu`l kI hovygw? 
10.If 7 penciles costs Rs 35. Then what will be  the cost of 1 dozen such pencils ? 



10. 7 pYNnislW dw m`ul 35 rupey hY qW iek̀ drzn pYnislW dw kI mu`l hovygw? 

11. If 5 men can do a certain work in 14 days . Then how long will 7 men take to complete the same 

work? 
11. jykr 5 ivAkqI iek̀ kMm nUM 14 idnW iv`c kr skdy hn qW 7 ivAkqI ausy kMm nUM ikMny idnW iv`c 
pUrw kr skxgy? 
12.To stitch a shirt , 2 m 25 cm cloth is needed . Out of 30 m cloth , how many shirts can be 

stitched  and how much cloth will be left ? 
12. do kmIzW sIx leI 2 mI 25 sm kpVy dI jrUrq hY[30 mI kpVy iv`co ikMnIAW kmIzW sIqIAW jw 
skdIAW hn Aqy bwkI ikMny mItr kpVw bcygw? 
13.Rohit made 42 runs in 6 overs  and Virat made 63 runs in 7 overs . Who made more runs per 

over ? 
13.roihq 6 EvrW iv~c 42 rn bxwauNdw hY Aqy ivrwt 7 EvrW iv`c 63 rn bxwaNudw hY[pRqI Evr 
ikhVw iKfwrI v`D rn bxwauNdw hY? 
14.If 5 pens cost Rs 115 .How many pens you can  buy in Rs 207 ? 
14.jykr 5 pY~nW dw mu`l 115 rupey hY qW 207 rupey dy ikMny pY~n qusIN KrId skogy? 
15. If cost of 5 kg rice is Rs 107.50 . What quantity of rice can be purchased in Rs 64.5 ? 
15. 5 iklogRwm cwvlW dw m`ul 107.50 rupey hY qW 64.50 rupey dy ikMny cwvl 
KrIdy jw skdy hn[ 
16. If 42 m of cloth is required to make 20 shirts of the same size. How much cloth will be required 

to make 36 shirts of that size ? 
16.jykr ie`ko sweIz dIAW 20 kmIzW leI 42 mItr k`pVy dI zrUrq hY qW 36 kmIzW ausy sweIz 
dIAW kmIzW bxwaux leI ikMny mItr kp̀Vy dI loV hY? 
17.In a computer lab there are 5 computers for every 8 students . How many computers will be 

needed for 40 students ? 
  17.kMipaUtr lYb iv`c hr 8 ividAwrQIAW leI 5 kMipaUtr hn [40 ividAwrQIAW leI ikMny 
kMipaUtrW dI loV hY[ 

18. Half metre cloth costs Rs 30.How much would 2
𝟑

𝟓
 meters cost? 

18.A`Dy mItr kpVy dw mu`l 30 rUpey hY, 2
𝟑

𝟓 
 mItr kpVy dw mu`l kI hovygw[ 

19. If 16 women can weave 72 meters of cloth in a day. How many meters of cloths can be woven by 

5 women in a day? 

19 16 AOrqW iek̀ idn iv`c 72 mItr k`pVw bux skdIAW hn[ie`k idn iv`c 5 AOrqW ikMnW kp̀Vw bux 
skdIAW hn[ 
20. If 12 mangoes weigh 2.4Kg.What is the weight of 8 mangoes? 

20. jy 12 AMbW dw Bwr 2.4 iklogRwm hY qW 8 AMbW dw Bwr ikMnW hovygw[ 
21. If 15 men can pack 540 parcels per day then how many men are needed to pack 396 parcels per 

day? 

21.jykr 15 ivAkqI iek̀ idn iv`c 540 pwrsl pYk krdy hn qW 396 pwrsl ie`k idn iv`c pYk krn 
leI ikMny ivAkqIAW dI loV hY[ 



22. If 12 persons weave 210 metre cloth per day. How many metre of cloth will 8 persons weave per  

day ? 

12ivAkqI ie`k idn iv`c 210 mItr kp̀Vw buxdy hn , qW 8 ivAkqI ie`k idn iv`c ikMny mItr k`pVw 
buxngy[ 
23. Cost of six mineral water bottles is Rs 60.  How many mineral water bottles can be bought for Rs 

220? 

23.6 imnrl pwxI dIAW boqlW dw mu`l 60 rupey hY qW 220 rupey dIAW ikMnIAW pwxI dIAW boqlW 
KrIdIAW jw skdIAW hn[  
24.In following tables if x and y vary directly fill missing term ? 

24 jykr x Aqy y iv`c is`Dw pirvrqn hovy qW x Aqy y pqw kro? 

       x      6      8    ____ 
       Y      18     ___     63 

25. A train 400m long is running at speed of 72km/hr .How much time will it take to cross an electric 

pole? 

25. 400 mItr lMbI rylgfI 72 iklomItr/GMty dI gqI nwl c`l rhI hY[ie`k ibjlI dy KMby nUM pwr krn 
leI auh ikMnW smW lgwvygI [ 
Answer Key 

1.(b)  2. (d)  3. (c)  4. (a) 5. (b)  6. (a) Rs135000 (b)Rs 3 Months  (7).572 parcels per day          (8).66 

Km(9).Rs 192 (10).Rs 60   (11).10 days  (12).13 shirt and 75 cm cloth remaining    (13).Virat (14). 9 

pens  (15).3 kg (16). 75.6 m  (17). Ans 25 (18). Rs 156 (19). 22
𝟏

𝟐
  meters cloth in a day.(20). 1.6 Kg (21). 

11 men (22). 140 metre  (23.) 22 bottles   (24.) 24 and 21  (25). 20 Sec 

AiDAwie-guxnKMfIkrn Chapter –Factorization 
(1 AMkw vwly pRSn): 

1.hyT iliKAW iv`coN 12x2 qy 16x dy ikhVy sWJy guxnKMf hn ? 
1.Which of the following is the common factor of  12x2 and 16x ? 
(i) 12 × x                       ii) 2 × 2 × 2 × x × x       

iii)  2 × 6 × x × x         iv)      4 × x 

2.hyT iliKAW iv`coN 4 × 5xyz dw shI mu`l pqw kro[ 
2.Which of the following will match with         4 × 5xyz 

(i)   20xyz   ii)  5×4xy   (iii)    5xyz  (iv)    15xyz 

3)hyT iliKAW iv`coN 5x2 + 15x dy ikhVy guxnKMf hn ? 
3.Which of the following is the factor of         5x2 + 15x? 
i) 5x (5x +3)                                 ii) 5x (5x - 3)      

  iii)     5x (3x +3)                        iv)   5x (x +3) 

4)  srbsmqw a2 – b2 =  ……? 

4)    Identity   a2 – b2 =   ……? 

i)  ( a – b )2                                ii)  ( a – b )( a – b )   

 iii)    ( a – b )( a + b )            iv)  a2 +b2 - 2ab 



5.hyT iliKAW iv`coN 3x – 9 dy ikhVy guxnKMf hn ? 
5 Which of the following is the factor of  3x – 9? 
i) 3x (x +3)                                   ii) x (x - 3)       

 iii)     x (3x - 3)                           iv)   3 (x - 3) 

6) hyT iliKAW iv`coN 14x2 qy 21xy2 dy ikhVy sWJy guxnKMf hn ? 
6) Which of the following is the common factor of 14x2  and  21xy2? 
i)  7         ii) xy              iii)   7xy             iv) 7x 

7) hyT iliKAW iv`coN 5xy, 30xz  qy 40xyz dy ikhVy sWJy guxnKMf hn ? 

7) Which of the following is the common factor of 5xy, 30xz  and 40xyz 

i) 5x           ii) 5                iii)   5xy               iv)   1 

8) -18xyz2  nUM -3xz nwl Bwg dyx nwl hyT iliKAW iv`coN kI pRwpq huMdw hY[ 
8) Which of the following is the quotient obtained on dividing -18xyz2 by -3xz 

i)    6yz                              ii) -6yz           iii) 6xy2                                   iv)   6xy 

9) ( y-z )( y+z )= 
i)    y2 - yx     ii) yx – x2   iii) y2 – z2   iv) z2 – y2 

10) hyT iliKAW iv`coN x3 – x dy guxnKMf iks dy brwbr hY ? 
10) Which of the following is equal to x3 –   x 

i)   x(x –x2 )                                  ii) x(x -1)(x +1)             

 iii) ( x -1)(x +1)                        iv) x(x2 +1) 

11) hyT iliKAW iv`coN 24m2 -28m8n2 dy ikhVy guxnKMf hn ? 
11) The factors of 24m2 -28m8n2 are: 

i)  12m2(2 –14m4n2 )       ii)4m2 (6 – 7m6n2)       iii) 4m2 (6-7m4n2)            iv) 4m (6m -7 m7n) 

12) 4x2y, 6x3y2 dw m.s.v pqw kro[ 

12) The greatest common factor of 4x2y, 6x3y2 is 

i)   2xy       ii) 2 x2y2    iii)   2x2y          iv) 2xy2 

 

(2 AMkw vwly pRSn) (2 marks questions) 
1) guxnKMf bxwau[(1) Factorise) 
i)  4x2 – 12 x   ii) 5x – 15 x2       iii)   16 m – 4 m2           iv)   18 n – 54 

2) srbsmqw a2 – 2ab + b2  =  ( a- b )2 dI vrqoN krdy hoey guxnKMf bxwE[ 
2) Find the factors  using identity 

a2 – 2ab + b2  =  ( a- b )2 
i)x2 – 10x + 25  ii) x2 – 8x + 16 iii) 4a2 -4a + 1 

3) srbsmqw a2 + 2ab + b2 =( a + b )2 dI vrqoN krdy hoey guxnKMf bxwE[ 
3) Find the factor using identity 

a2 + 2ab + b2  =  ( a + b )2 

i)  9x2 + 30x +25 ii)  x2 + 4x + 4 

4) srbsmqw a2 - b2  =  ( a + b )( a –b) dI vrqoN krdy hoey guxnKMf bxwE[ 
4) Find the factor using identity : 



a2 - b2  =  ( a + b )( a –b ) 
i )  x2 – y2         ii)  4m2 – 16n2        iii)  81a2 – 16b2 

iv)   9m2 – 25n2           v)   100m2 – 144n2 

5) guxnKMf pqw kro: 
5)  Factorise: 

i)  5x -10            ii)  3x2y – 6xy2             iii)  x2yz + xyz2 + x2y2z2                   iv)  ax2y + a2x2y + y2a2x2 

6) guxnKMf pqw kro: 

6) Factorise: 

i)  x2 +xy + 10x + 10y            ii)  6xy -4y +6 -9x 

iii) 12ab +16 b + 12 + 9a     iv)ay + by + ax + bx 

7) guxnKMf pqw kro: 
7) Factorise: 

i)  a2 -2ab +b2 –c2                                    ii)  x4 – 16           iii)  a4 – ( b+c)4                             iv)  x4 – 2x2y2 +y4 

8)  Bwg kro: 
8) Divide: 

i)   -20x4 ÷ 10x              ii)  -10xy2z ÷2xy 

iii) 15x2y2z2÷  -3xy     iv) -18xy2z ÷ -3xyz 

9) Bwg kro: 
9) Divide: 

i)  36( x2yz +xy2z+xyz2) by 12xyz 

ii) 45(x4-10x3-12x2) by -15x2 

iii)  5(15z2 – 60) by 15p 

iv) 5(3x+4)(3x+3) by 15(x+1) 

10)  Bwgkro: 
10) Divide: 

i) a2-14a-32 by (a+2) 

ii) (p2-5p+4) by (p-1) 

iii)15mn (m2-n2) by 3(m+n) 

iv) 4pq (q2+6q-16) by 2q(q+8) 

 

 


